(1)

(2)

series{ start=2004.jan
span = (2004.1,2011.12)
decimals =1}

transform { function = log }

arima{model =(210)(010)} «

regression{ variables = (td1nolpyear Ipyear )
T

save = (_td hol)

user = ( jap-hol )

usertype = holiday
start = 2004.1
file = "XXXXXXXXXXXXXXXXXXXX" }

forecast { maxlead = 14 }
estimate { maxiter = 2000 }

outlier { types = all 1.2
span=(2008.1,2011.12) } -

x11 { appendfcst = yes
print = (none + d10 + d11 +d16)
save = (d10 d11 d16)
seasonalma = x11default }

3)
24 1 (2

(2)



(210)(010)

td1nolpyear Ipyear

(011)011)

td1lnolpyear Ipyear

(210)(010)

td1lnolpyear Ipyear

(011)(110)

td1nolpyear Ipyear

011)(011)

td1lnolpyear Ipyear

(010)011)

regression { }

(01 0)(0 10)

tdnolpyear Ipyear

(21 0)(010)

td1nolpyear Ipyear

http://www.meti.go.jp/statistics/tyo/sanzi/result/pdf/x12spc-1.pdf
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TC 200903
LS 201001
TC 201103
TC 201103
TC 201103
TC 200903
AO 201011
TC 201103
TC 200903
AO 201010
TC 201012
AO 201103
AO 201104
TC 201106
TC 200908
LS 200901
TC 201103
TC 201103
AO 201104
TC 201103
TC 201103
LS 201105
LS 201001
LS 200801
AO 200912
AO 201103
TC 201103
TC 201103
LS 201003
TC 201103
LS 200808
LS 200902
AO 200909
LS 201001
LS 201007
TC 201103
LS 201105
TC 200903
LS 201001
TC 201103
TC 200903
LS 201001
TC 201103




SPEC

(210)(010) tdlnolpyear Ipyear
(011)(110) td1lnolpyear Ipyear
(210)(010) tdlnolpyear Ipyear
(011)(011) tdlnolpyear Ipyear
(010)(011) tdlnolpyear Ipyear
(210)(010) td1lnolpyear Ipyear
(010)(011) none

(011)(011) tdlnolpyear Ipyear
(011)(011) tdlnolpyear Ipyear
(011)(011) tdlnolpyear Ipyear
(210)(010) tdlnolpyear Ipyear
(011)(011) tdlnolpyear Ipyear
(210)(011) tdlnolpyear Ipyear
(210)(010) tdlnolpyear Ipyear
(110)(011) tdlnolpyear Ipyear
(210)(010) td1lnolpyear Ipyear

(210)(010)

tdlnolpyear Ipyear




011)011) td1lnolpyear Ipyear

* Ok x  X




2... 011011

tdnolpyear Ipyear

3... 011110

tdnolpyear Ipyear

4... (110)011)




